The wave form which it occurs problem(mis-reading)
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The wave form which it doesn't occur problem(mis-reading)

274 a-.. AT i Tektronix
:.—rhr‘w;rﬁ'rl\-?.-l.*r'l'n‘-&'nﬁﬁ'rnﬂW&*ﬁﬂﬁmww%.{jnﬁﬁ%hmr.rrv;ﬁ'rr;Hnr.+r;—nﬁmﬂ.wa%r“&*'wwi\‘rﬂk‘,’("' 2 ’ot— o nE
: =M

At 120.0000ns :
_ _ - | I _ _ _ _ _ WE R
0 vooaps 1/At: 8333333 MHz [ 800 v kA

t+ 0.000000s yarkhimidngd 12 0_0000}.‘5 g AL e o s ooty g e st e sl e et rbrareede s Menademen

H

r

.@-LRESELN AR AL S8 A ,.-,\...uu.m,u,, st

V: 288.0 mV

AV:  288.0 mV
AV/At:

D
— nn
(C3 o TR ;
' ' u\\lﬂ‘A’h'

Hmmlm}yﬁwquwﬁmmw

[@> *xD1 _ T _E-{"r";vﬁ*m;mwﬂ'm_m.M*ww.v‘w«wfrh-:ﬁw‘ﬁvH».«.‘mma. wmm-nwWMw.-z}qqm'

Ch1 Ch2 ch3 Ch 4 -~ A [ 2 R E P4

2.00 V/div 2.00 V/div 200 mV/div § 200 mV/div Ref DVM | AFG 100 ns/div ~ 920mvV § H7 N RE Fit
© © & % i SR:2.50 GS/s 27 7404... 17 12A 2021
1GHz 1GHz 1 GHz 1GHz ; 14:34:20




